Step by Step Sanskrit Learning Programme — Month 17

Lesson 62.
The Alphabet

qut - foem:

A) Evolution of Sound.

As Sadhakas, let us introduce ourselves to the world of sounds.... RsGI9YA | The cause of the
world of things.... IO eI ... iS QTEIET In the context of sound, qrﬁw is RMeqslgd | The
entire world is said to be born of 2Meq ... ASGAE | Evolution is the result of the self

movement ¥9«g of Shiva-Shakti. The line of evolution is from the subtle to the gross. There

are five stages to the emanation of sound.

1. The first is YU which is absolutely supreme and subtle. This can best be described as

the storehouse from which inspirations would first emerge.

2. The second is T29+dl which is less subtle but is still undifferentiated. This would be the

inspiration that would eventually give rise to a thought or an idea.

3. The third is HeJHI which is grosser and undifferentiated, though not articulate. This is

actual thought process which goes into concretizing the idea.... a plan of action.

N
4. Articulate sound is called @ which further takes two forms: subtle and gross. It is

from that that all the letters ElUf words 9q and sentences 91944 are manifested. The

subtle forms of these letters are the mantras. The gross takes the form of the
language we use.

qUT: is that form of sound which cannot be broken up further into smaller parts. It is

therefore also called 3T&H_| g 3 H{EH_ | Alg or 4 ....sound .....can never be

destroyed. That S1&YH, when it is in a written form is called the qUT: | Over a period of time

both words have now become interchangeable.
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S1& s, when put together to intelligently express thoughts and feelings is called the 9g | A
group of 9g s form a 9199 ; and 9199 s put together so that another may understand what one

. . . . \
wishes to express, then becomes language ¥TST | The Sanskrit script, is called TR |

B) UT:

Let's go over the list of o' again. The divisions that you see below have been made by Panini

and described in his ' Ashtadhyayi." We need to study this so that we are better able to
understand how Panini worked at his grammar.

W

3,8 3, K, G (BEIEU:) are pronounced in one matra ( a measure of time almost equal to

ohe second )

3T, é, &, R, T, ‘Q, Bi\T, B?T (ﬁﬁ'ﬁm:) are pronounced in fwo matras

a3, 33, 93, WY, I3, ,U3, W3, A, A3 (SFACA:). .. used when calling out to someone and

take more than two matras o be pronounced.

SENTERET: so named by Panini.
3 (IFEN)
ar: (femty)

(I've spent about a trillion hours trying to find a symbol that looks like two smilies put
together, one on top of the other, the top looking like a smile and the one below looking like a
frown in the place of the visargas for the four alphabets listed below. Sorry. Don't have the
software to create an image even. But I'm sure you'll be able to figure out what I mean. If any
of you has; and can create an image, please will you send it to me at 'Queries’ so that I may
replace these four visargas with those? )

& @ (NErea:)
‘9 R (STEHF:)
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ENIPCrECIIC|

Ol

% il ATt | ()

e

g &fa wifr: | ()

2 < R | (@)

AL ]
ERRFRP-RIS
AL A A
ERERFRERE
AA M

q gf wifvr: | (@)

g g @it | (@) |9 % |3 | ||

(Secret revealed: It is good to remember the above 25 SFFI column-wise too. For example

w L« d Tete)

CCHIPCIERIE

L&A, (FAE)
T, 9, G, & ()
%

o & and % are not included in Panini's work, who dealt with only the language in use and not

what is originally in the Vedas. But we shall keep them in anyway.... just so that we do not
forget them.

S=HNUH
Your teacher will help you pronounce the €, 31?5\1‘15!1'&"[:, and the TSI |
I'll just supply a table that you can refer to. The beauty here is that this classification works

in various ways. It helps making and breaking sandhis, writing out words with aqaﬂﬁi# s and

understanding the relationships of each “family group" ... how one letter can be substituted for
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another and ideas like that.... For example, you would have often seen both dd and dg, It also

helps us understand why Parama Poojya Swamiji pronounces 9% AR the way He does.

<

qu:

SIS

< o

CA[ASAIIUTATHTIA

37 2 M3
FEINIT

g i () &

C L)

CALDE

R
ATAFSA

T3

H E H3
TETET

L )

%R AR
aggad

(RS

3 I3

TRTIH
STHEE: (9 ;)

( actually the two smilies I've
mentioned earlier)

QS

<\

T SqUAaqH

ATHHT FSATS :
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Ty FIEAG FISASA:
N D = =

N FISSH, FISTST
q gralseH_ graised

j
,%’
%

( smilies again.)

HFEAN: AR

& is a U1 that has been given a position of equal standing in the TUHTHT in the Vedas.
Sanskrit grammar, whether modern or classical, visualizes it as %&_+ ¥_and you will therefore
find it in the dictionary in the %_ section.

However, we have retained all the qUM: that are in the original qUHTST |

This has an important effect on pronunciations.

The T carries forward the sound of the letter just before it.
< < e N

dUT: is pronounced dUIE, qUI: s pronounced EI‘JTIQ'&'T 9U[: is pronounced dUlE

J&: is pronounced I]&§ and so on and so forth.

When the &1 is followed by a %, @&, I, or a B, the &1 is forcefully expressed. Going by
this, if the forT were to be followed by &, which, according o grammar a & + ¥, the feremt

should have been forcefully expressed. But it is not. In this case, the T does what it is

supposed to do....it carries forward the sound of the letter just before it.
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C) Maheshwar Sutras.

TR a8~
[a\y oo . < o N (N NN D o N . i
HEH: QU7 HERASATRUET A | qT0T-: Hesh TR A | Tshed dNT U

~ ~ b ~ ~ N
I AT NS | FIGAY TeAY FAERIA: T Teef: A |

TR : STedehTe AETH=Eg(g: ST 3 A=dd | =liwh: &: [l FAfY =&Y SURTsd |

fheg STRR : TR FSRIRT: SRTEd | d STTHTEA ST g:Rad: qfuT: RO et

FON| TTCAH T | O 3 Fa (TEgeNT: ¥RTEd: A ST Faied T | aF @i
AT Gegse: TEled: AT Tehy: M= S | Ucd® qued Eashid AR ~eedd |
TS AR T R AR TN SHEH STaIEdd, | INT: TgemiaR SHEATE Yol
~IdEa AT ST | T A1g: o1 § T U] EeA1E GoequT el FHUTget Siase: | drfel oo
TR SN -G a1 FHEheel | TTlel GATT ATRUTE AT Heded |

1, ATIOL
2. I H

3. TAE

4 WA T

5. EqAILZ,
6. & U

7 AASTAY
8. ¥
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9. HTYY
10.FTMETT 3L
TR A §
12.% 99
13.WFT L

14.€ & |

Panini has based his entire grammatical work on these sutras. To avoid a detailed recital of the

letters, he used what is called the YcHIEI . It is very much what you would see advertised in a

shop window " A-Z available here." Rather than list what he has, the shopkeeper, in his A-Z,
has conveyed the fact that he stores all that you need.

Similarly, when Panini wished to list only the €{: , he just said 319 and no more. Look at the
sutras again. Which sutra has the 31 ? The first. Which sutra ends in 4 ? The fourth. Ignore

every a9 with the &ed . They are called EH\EIUTf: and are only indicatory letters which

disappear the minute the purpose of indication has been fulfilled.

List all the letters that are in the four sutras and hey presto, you have a list of all the €q: |
Let's take another example. IR would be all the q9 s in the 3rd and 4th column. Gottitt??
The peculiarity of the UcqIEN s is that they can start from any U7 | They may begin with a qui
coming from the middle of the group, but they must end with an EFI\'q'Uft I

Panini then worked on 41 such SCATER s in his TSI, U] comes twice as an Eﬁ\aﬂft I
Whenever you have to choose the first, (1) will be written against the @l . Whenever you
have to choose the second, (2) will be written against that ScdIEIX. Shall we try work with

YITEN s as a home assignment? Please refer to Lesson 62 A.
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D) 107 3%, T, FFSERU changes.
You would have heard of va¥H and it's relative ﬁ\ﬁqc‘:[\ It is apparent that the S and 3§T are
connected. What has happened here is a g6 . It is often difficult to remember these terms....

Al 3fs, 1d, GEFERIT | So here is a list you can refer to when foxed by sandhis. The idea is

to see the correlation amongst alphabets.

& #F | 3 3 = | 3 q T | e | &
| T | 3 | W
I 2 2 2N 2 2 I 2K
& | 3 & %= - - - - -
o @ T e | e W | T | e |
G ol Y| S | WR | e | ¥ | ¥ || e
oL Hfea: RS S A S
Iiq Gied ] ) ] ] T Y| W | sE | o
TSRO 33 |33 |{>F | 35T
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Lesson 62 A B

Exercises with the Maheshwara-Sutrani
Worksheets

List all the aUT: in the IIRER s below.

1. ST (1)
2. I,
3. %,
4. IF
5. W&
6. I,
7. 4,
8. T4
9. UF
10. 3%,
11, I (2)
12. 3L
13. 9L
14, 31
15. I,
16. 5.
17. &9,
18. FL,
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19. ;Y
20. T,
21. &L
22. 93,
23. S
24. L
25. T3,
26. B9,
27. 99
28. 719
29. @9
30. 9,
31, A

32. 3

33. @
34, T

35. A
36, 3%

37. 8%,

38. 99,
39. @&,
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40. A%
41, TS

You do not need answers for this worksheet, do you? That's why the lesson is named 62 A B.
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Lesson 63
TFA-HieH:
Vyanjan Sandhi.

"Sandhi's not my cuppatea," was my refrain.... till I realized that a sandhi was exactly what T
had done with both, 'Sandhi is' and a 'cup-pa-tea.’

O.K.... so if it is such a common thing in speech, couldai find egzamples a plenty? Butsurely you
betcha bottondollar I could! Not only in English but in every language as well.

Just have a look at this....

Shuddup = Shut up. ( Vocabulary of the Younger Generation, not mine.)

An example of ST TS |

It's just that us Indians love to study and have therefore made a science of something as
natural as sandhi. What happens is that a student who studies the science first becomes quite
dizzy with all the information, so I have here tried to provide the smelling salts.

It's not so bad..... I've survived and so will you. Let's tagjust one

stepatatime.

Is the combination of a consonant with another consonant, a vowel

To make STSFA-Gied: easy to memorize and recall at a later date, let's go over how the

consonants are classified again.

kg 8 T = 3
a4 X SL L RS
A 3 X T oL
L8 4 < q 1
9 % S A a1
4 L 5 4

9L 9 q &

The shaded consonants are the %a(—cqaddlﬁ | The hard consonants.

The rest are H@-aﬂ?ﬂ'ﬂ%{ | The soft consonants.
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Please note that for our grammar study, we will work with the consonants specified by Panini.
Make sure that you are familiar with lesson 62. It will help you tremendously.
Sandhi is a vast topic of study. Rather than do the whole lot, it seems practical to just go over
a few. (To give you an idea, we categorized sandhis into 40 sections of which we plan to do just
9). The table given below gives you examples of the ones you will see most often. Use it as a
guide while you are studying specific details of the sandhis given after the table on page 8 of
this lesson. There are plenty of examples, especially from the Bhagavad Gita, for you to work

with.
TEe-gh: HEH SETENTR,
Name of the Effect Example
sandhi
1.
Lcd
~ i |
O (@) |/ meose gy
proximity
with3a /g | S(TIEEH
..respectively
)
Concrete 9 g T + TSR =
examples...
HAHS |
L R A + 3 =
N
9 =q T + TR =
AN |
5§ S| qdq + Sd: =
SSSCH
S | AT+ 4+ =
[aNy .
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b BER T B followed by ZL_ | 2L optionally
first four of a &1 converts into
g ifitisad,
| @_converts
intfo 9
concrete q ) = oA + AT
examples...
= ST
2. e
T /3 in close ;
proximity
with/g | & (TEHE
..respectively
)
concrete q g ] {HY + §86: =
examples...
{(HEYES:
9 < & HY + E'|$\E| =
TSR |
q A g el + £ =
L d & gH: + d: = §&:
9 d & HY + d: = F:
9 G R} DY+ = U
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www.chitrapurmath.net

© Shri Chitrapur Math 2002-2013

STRIcd
St SRS | A% (all the any ¥ or a corresponding
This generally consonants minus g = SR
happens between the
two different o o
SATHHRIHAANA g
words.
{@andq)
Concrete % 3 i q+ o0 =
examples...
e
9 H S| ST + Ied: =
HS{ed:
< ST S| H& + 3 =
Se:
q. el T T+ A =
Tdge™
4 2 &l ST+ 5T =
SUCEE
SICIERIC
TS TR IR | TS (all the o gg == | corresponding
This generally consonants minus SRl
happens in the the
middle of the BHFIT%W?FIT&I
word.
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I Fandq)
Concrete Sy q e A+ Y = B
examples...
EN q T gL+ for: =
ghe: |
4. el
TR = % (all the TR = corresponding
consonants minus R (first
the five of each
o o <
SATHRIH—ANA T+ T H)
{Fandq)
Concrete T q & A+ g =
examples...
g
4 4 ., 3G+ 1 = Feel
T 4 : ¥+ Al = ¥edl
5 oY < .
d % ddiT is
replaced by @
1 A < is replaced
by a nasal |
concrete a & & ‘a:q-ﬁ\ + I =
examples... .
TR
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1 % nasal & | SFETEFL+ SVId
B CAG | [ S|
6 o~
HANHRHIH
@ | = sgAR T includes all the | followed by a | Is replaced
nasal by its own
SeTRIE! T consonants (LA E, T corresponding
excepting & | AL " Y Y | nasal,
occurring at the end 1) optionally.
of a 9g
Concrete 1 7 = - . Iﬁg L
examples... ‘
= =
G /
~ ~
sdiq HIE
b | sy v ™ ST ending in | 'S "ePlaced by
its own
feieaH H corresponding
nasal,
compulsorily
concrete T BSRIGLIIEER AT F: g+ 7 -
examples...
HHIH
7.
TN
No need for a
tabular note. All
details at the end
of this Sandhi
chapter.
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Reminders... q g a’r%%arli' -
ek aw
q q qIeH +937d =
918 Gaid
8 TEETR, | 9 occurring at the followed by a | is replaced by
end of o T e (Rad<
d) and then by
an STH (& +
& L AL,
+ iﬂa?lTﬁ:W[: |
concrete a q /3 f[\/Q'[\ aF + 9= afer /
examples... '
a=
1 NN %/ A+ FFN, =
dATSBER, /
SIEFAC
1 q/9 q /4 ST + AN =
IFEHTEAE /
EHTEARA
SAELEE SR, qiew: T ¥Eld | T+ aifd =
This rule does not maﬁ\ﬁ |
apply to ST
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1) A Gied:

) (ECll: 271 41:)

Hand a qui belonging to d, in close proximity with * and a qut belonging to d are replaced by
2land a qut belonging to J |

Whenever there is a combination of 9 or H\a"f (d, I, 3 9, 1) WITH (either before or after)
2L or with the =cul (9,9, S, &, 51 ) the € changes into A and the d o changes into its
corresponding @ col (AATEFIH_ ....that is respectively.) |

AT, + Aisd: = A=A |

TG+ 5: = Tl |

dr + ST = dEEd |
Here are a few examples:
1. 9 & o=y qEmegan-
N N [aNl aN
BEsICR It Tt

AT VSIS,
T GUOTHTY AT || 3o R—< 1|

haN haY [a Nl aN
- T S ST e S H 0T,
TR STOgd I 2HH, 3 - NS SeEaTH, ( To figure out why W has become 3, look at
the next sandhi... TEBISTE )

2. S dsE AieeTHte JegraRivd: |
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IS A VA SAFNATHIRTA || 7o 9-3 1
T FTea | 38 VA I e, ST

3. AT HiaA-
WeEaEgld aud =wg: |
AT O
N oD pa 0o
S[CATea ag 7 =5F HEA | 3o -2 1l
IAMaEa=T = IMdad
4. 3 f& e R |
w«ucebl-fthcccula|ec<4|¢|m9u“rdtdrd{& Il 7o §R-9 1l

PIMSFEI = I FId_

b) FRBISFE |
Fully stated, &9: 20: B |l Here, in this sutra, the &4: is drawn from a previous sutra. If
Y (first four of a co| ) is followed by [ then that 3A_is optionally replaced by §_ |
If the 2Wis followed by A&, then if the EEPI\EIU'? is a g, it will be converted into a FL(F‘?[: 2ol
4:) and then that Sl is converted into a ﬁ\(@ﬁ o ....Refer to Sandhi No. 4 ). If itisad,
then it is replaced by 1(1-?-?[2 garg:) |
Ind + 2, the d changes to g and the 2 changes to € OR remains [ |
I + AGUHH: = SO |
HEd + 3AheH = HE=SRIH_ |
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1. 9 & vozate geEga-

TB RS MUl H{e g |

AT FHTTH TSR

TF GUUIHTY e 1 3Tle R-¢ )

T - T R oo ST (e SO,
TR STIgETd, I, INEH, S, - INEUR Sheadmon,

This could have been written as

T~ TR ST e ST

NN\ o N oSl aN haY
2. I & TEHIERHEA [HREId |

wldlcqau°hhc¢c¢4|«|<—c<4|¢uw||?d<-1rdw\ Il o -9 |

ARTBIed = AN ZMed

2) A gl
Fully stated, &l §&AtE: | Here, in this sutra, the & is drawn from a previous sutra.
Hand a a9 belonging to d, in close proximity with ¥ and a qui belonging g are replaced by ¥

and a U1 belonging to g |

Whenever there is a combination of 9 or d e (d, I, 3 9 1) WITH 9 orwiththe el

(<, & €, & ) the € changes into Y and the d e changes into its corresponding € c il
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A+ T55: = QHSSS: |
Y+ d:= TBE: |
g+ o= oo
HY+ i = FE:

3) SRIcT ied:

. N
q) ST SRS |
Fully stated, 98 3 JISi TaT: |
Whenever there is a combination of 2 ( all the consonants {minus the aﬁﬂﬁmﬁﬂﬁl }, 4.
. and 4 ) WITH any & or a §g <93, it changes into its corresponding SRRI ( the third qut
of each &1 ) | This happens only if the sandhi taking place is between two different words. If

the sandhi is in the word itself then HSi Hﬁ[\?cﬂ%r is followed. (Basically it is the same sandhi

but given a different name.)

& having the same place of utterance as % co| (93 ) will be replaced with that corresponding
qul |

R[ having the same place of utterance as @ CH| ( d1G ) will be replaced with that corresponding
qu |

Y having the same place of utterance as € co| ( ‘:Q'Tf) will be replaced with that corresponding
qu |
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Y having the same place of utterance as d CHl| ( &=dt: ) will be replaced by that corresponding

<
qur |

R, + 3 = [ |

1. 9 & & vqzanit qemagan-

TBI RT3 MU~ dToTT._ |

AT FHTTH TS,

Tl GUUHTY =ededd, 1l 3o R-< 1

a haN [aN f: |
AW TG, T J, I, -JNITH SIS, |

2. AT TEey Hgdd el |
Faqmy g HiHt afed decad: 1l Io ©-3 )
RN = R T

3. SMFIcTRATd HieA-

WeEaagfd duE T |
TR : O
S[CAT 9 9 = Hid_ || 3o -2 1l
B, = R T,

MeRTERI = STead g
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4, TN JERI FogRliy e I |
AT Hiead deges AIUR |l 3o 29 1|
AN = Id_3RA

TN = TG

FEHuH = e SHR,

o .

5. 391 & SR AR |
HICFARRCANEqaR TS e Awae, || 3o §2-¢R I
G = I e

b) S TRIJRT |
Whenever there is a combination of I (S4HAAH) WITH any IRL

(HgsaHAH) it changes into its corresponding SRRI ( third consonant) | This generally happens
in the middle of the word.

L + o = FRE: |
S + 9z FT: |

4) 9 gle:
@R = |
Fully stated, @R ® HST T | Here, in this sutra, the T (first consonant of each Tz + 3 Y,

) is drawn from a previous sutra.
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Whenever there is a combination of I WITH a FON TF :

it changes into its corresponding d{_ |

G+ = A |

1. SMEITRA FHiae-
aT[ < ‘c\‘\ . haWaN
N e

AT 92 9 39 g |l e -3 1l
M2 + T = IMEACTRAN | ( D does not get converted into & because it is followed

by a FERAFT.)

2. THRAY FZT Ioel™ 2qned I |
AT Hiecd dege™ T |l 3ffo 339 |
TN = T TN

oI = I qIed

AcHes = dd o
3. 991 & e R |

MRS AN AN TS e e, || 3Tle -3 |l
FICFRS = S FHES

Y Ny
5) dlle

Fully stated, @it (S&d d) & (SER R ) WE: |
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A consonant of e followed by <_is replaced by one homogenous with the latter - AT - in
this case, @_ |

QA - QA -

qedld BN - GedledBF: |

HATTRIAICHIHT: - ¥ S IHT: |

_is replaced by a nasal &%_ |

FgETeSTd T, - TG ST |

1. 9g SN GARTHIS % @ghe Aai fgsomy |

oo feistRAtaTed |, facd o faigg faedd | (w1 Tifaeed - R)

TeE = I FVH

6) Wﬁ e
ha¥ o o N
a) U SATES®  SHATERI a7 |
Fully stated, TEaed IX: SRS R AGATHE: T |

I{_ includes all the consonants excepting &_ |

I{_ occurring at the end of a 9g followed by a nasal ( 31, H, €, 9, d1) is replaced by its own

corresponding nasal, optionally.

= = = = = =

B AE: = hMHE: [/ Shdlg HE: |

T H@2E F97 - Gad H /Tae H |

@, + AT = Tew: / fGEmT: |

{ remains as it is, it has no corresponding nasal.

TR AR: - JHE: |
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1. FEHFAI fEoTd Sl SiwlgsTd 9 ¢ |
ENTHTEEA e T @ = 8 B 1 e 8-9% 1

b) T TN e 1 ( i )
The rule T Sﬂ?ﬂﬁ% Sﬂ?lTﬁ:W\[ dl is compulsory if the 4T that is added ends in H_ |
TR+ AT = TRae T - of little value.

7) gER qiea: |

a) H\TSQFJH{: I

Fully stated, {: AFEAN: &fs W - ( &[5 is drawn from a previous 9 ) - H, at the end of a 9§
is

1) replaced by an AN if it is followed by a consonant.

2) when it appears at the end of a 9g or at the end of a sentence, it remains as it is.

1.% ﬂf\ 0@ [aX} o\ o\ l
oo feisTRAtaTed |, facd ot faigg faedq | (w1 Mifaeed - R)

2. T s fsaneH % %" ge¥icad |
o . [a TN (oSNNI o ~
AAfepTdl = 6 Tieaateied fRg=ad 1 (3o ¢-9)

b) AT YA |
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At the end of a 4q, the &I can be replaced by an GET(R\:@ qUT which is homogenous to
the T which follows it.

% FMY / gy | =g o=ala / Fearaedtd |

¢) AMIEaed S |

. and H not at the end of a 94 are replaced by an 3IFEAN when followed by & - R |

d) STEANET I WEIul: |
When SJ&N is followed by a q?{amf it is replaced by an i‘HQFITrR\QE which is homogenous to the
latter. 9gS1: | @R | FIS | FHiET |

8) TRBHITRIF_ | (Cracked itlll Here's why it is RHE and not HREARI. Il
1 occurring at the end of a 9q is replaced by % if followed by a ¥4 and then by an 31H_ |

This rule does not apply to RN ( an avyaya meaning "tranquil") | ( Please have a look at the

table for clear examples.)

o  IFGANGE: qEET g AT |

The Ut preceding ® is optionally nasalised.

e SIGAIEHRIS FER: |

When it is not nasalised an &N is added.

Thus

HHA M, = R A | TESeavRTe, |
- FHRE R | SEgATR®: qE@e g a1 |
or = FRHL A | SFATHHICRS FE@AW: |
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This {_is replaced by the forET and later by §_| Then the = rules are followed to give
either a Eh'ﬁ:ﬁ'l'éi?l\ I

ora EF(I'}GHT"}&FI\ I

Similarly, ‘-W'IT-I\%IT'I%T = ‘-'IEI'R\QT'I%T

= VAR A / Va1

= ¥AtERId / ViRl |

MUTECIFedl — MIUT cdefed |l 3Tfe 9-33 ||
ETEiE WS - SSEEEL T 13T R-92
But not in the case of WH]%%I% I

1, SRRT=ATAwaRIRecd SRl ¥ |
AT ATgated qivedr: 1| 3o :-92 1l
BRIEICE IR RICICE |

IPTAGH = PTG |

*kxk

You may not require to know any more sandhis than the ones listed in this lesson. If you do
come across undecipherable ones, please write. We'll respond to individual requests.
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Lesson 64.
HE- NN

Samas Vichar.

A long long time ago, everything that needed to be passed from generation to generation
was done in the form of verse. Verse was the only means of ensuring that knowledge was
protected. It may have been years since we've left school, but who has forgotten 'Jack and
Jill'? Prose, on the other hand, has been relegated to the back alleys of our mind.

In the midst of all this poetic creativity, a natural problem reared its head. Sanskrit is the

only language in the classical world which makes use of ¥cd9s. The use of Ycqds helps every

single word to have an identity and a meaning of its very own. But fitting the word + ¥cd¥ into

a metre in verse form was a difficult task indeed. "What to do?" asked a poet. "No problem!

Let's create a shortcut," said another. And AT came into being. @AM, | H ¥ was the

I kid you not. There does exist such a verb: & I does indeed mean 'T am creating a

synopsis.... or in our layman terms... a shortcut.’

HHM™ allows a person to string two words together to form one single word. And "ishortcut
ishtyle" the first word is written without an appropriate Icdq. For example instead of saying ¥

(gl 3¢ I'd say USTZA: and still make complete sense.

Why does Devdas have to romance his love with a long drawn out, "You have such a beautiful

face just like the moon!" All he'd do is say "I ﬂaﬁﬁq" Devdas too, by the way, is a HHIH

word. ?::al-'q q: ‘q’aram: | The difference between a @F: and a AT would be that in the

former, two letters combine to form a single whole letter or a conjoined letter( either in the
middle of a word or between two words to form a single word) and in the latter, two words are

placed side by side (without the need for a HF: to take place) to form a single word.
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In o §HME: | the HHEAY] is the compound word... ?’@lamz | T is when you break it up into
its components..... aﬁl—'ﬂ Q9 |

Naturally, it is with time that you will figure out in which combinations these work out, for

example 'G,'I'Fli_q“ would not be correct. And it is with time that you will figure out which words

can be made a HHM of. For example, d44Td: is allowed and NOT d¥Tddld_ | Not to worry.
In this case at least .. Time will wait for the Sanskrit enthusiast!

Note:
This lesson is to help you figure out what @HTE words mean whenever you come across them in

your course of reading. You also now have the wherewithal fo form your own combination words
intelligently.

Another thing o remember is that people are all made differently. Many a time you will find

that someone may have formed a §HH in one way and you may prefer another. Both may be

correct. So just relax and enjoy learning something new.

HHM can be divided into 6 classes according to the sense that they convey when dissolved.
geal f Ry =% R fcamesdinTe: |
qcgeY FHING IATE i agaite:

For our convenience, I have divided them into 9 groups. I have been better able to retain the
information with a wider classification like that.

1. STERTE: A word which conveys a meaning, is a part of the §HIH which, aftfer the

combination of the two words, becomes an 349 | For example:

add g to indicate AT ' lots of goodness.' GAFHH_ = AFSHI H‘Irlﬁ= lots of

auspiciousness.
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2. dcde¥: In this HHIH, the second word of the §HIH is given importance. For example:
FagM: = 3969 9 | The first part of the word is simply an apt description of the

second. We are talking about the QI: here and not the a_q’t I

3. FHINA: In this HHIH, one word is an adjective of the other. It is a part of the dcq&¥:,

but we shall list it separately for convenience's sake. For example: T-ﬁ?:?\l?m = :ﬁm
IcUSH_ |

4. r@@ In this @AM, which is a part of the q;:fqm:; the first word is a number; how

many in a collection of things. For example : q=al = GEFl JeF FHER: |

5. &v&: Be sure to look out for the T between words in the f5&: of this @AM Il For

example: EREGRA: / ERIGEN: = SR & 64 |

asﬁr%: When two words are put together to imply something totally different, ag?ﬁ%:

o

- N e S _
is what you see. For example: I«gHI[%5: = Frg: AIA[ &Y H: | Here, we are neither

giving importance to the moon or to the forehead but the Person who is adorned so:
Shiva.

7. SIGHRTHANE: is not really a different GHIE: | Whenever, two words are put together
and the Tl of the first word remains intact, then @ takes place. Depending
on the HHIH: itself, it can be any of the above §HIH: s. For example: ghaest: = g

o

=G|
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8. «SIHHIE: is not really a different @HIE: | Whenever you wish to convey 'the

absence' of something, this @HIE: is used. For example: Aferd: = 7 fae:

9. IYYSEHTE: see how the noun is described here.. SVESL: = & HUTd 3 |

THME: s a vast topic. Sorry, I made a mistake, a VAST TOPIC. We need to be practical

about such things. We can't handle it all at this stage. Let's go over a few details to help us
decode what we may most often come across. A tabular column will help.

1, STANTEITHE: |
You will recognize the TARTEEHTE: in words

1. Where the first part of the word is an 3{<d9 or a GRS ( [9TdT: are particles which
possess no gender and number and the case termination after which is dropped or

elided. For example dlgd: (9 and others) and Mg (31 and others)
2. The second part of the word is a noun (< ).
3. The combined word is an 3199 and is Y. THa=EH_ |

4. The combined word §REdYGH is different from the s , because the conveys a 3799

special meaning to the noun.

Addition of <9Y to HHEAYGH faus:
mean
& 1] in, on AR & 2
S| closeness SEEAUL § HEUEH H‘:ﬁtﬂ{
l%lH\or' ﬁ{ absence ﬁ\_rlc:l'l:[\ SCIG IR EICE
31d behind/ following SIGICE W q4Td
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oo

[N N

9d  every Alciige. fae fomg.
IT in that manner AR no spelling error RIERECIRER|

here. There is no visarga. All

these words are 39 s

remember?
d  with/ resembling SECERY ST 8 [ STHREA HIgEIH,
M beyond / upto EHTSTH, 3 AT
. (e )
a:rrglqa haN . o o N
31 Jod: (| Hlod dh, H&d &
AEATHTEH, 99)
alife span (!1')
a:  outside qRETEE DIECEICE
near/ t ds ST HH
¥ near/ towar towards the bank
9 a) away from W against the bank
(opposite of the meaning
in the above row)
b) repetition ‘JT%I%:I'F[\ NN
g abundance, prosperity gHsH, gt 9
gladversity, poverty @%FI'FI\ PCCiC] cthﬁ
3AMd destruction, end of AR, RO o1
A inappropriate SRS fereT |Fvfa 9 gead
Zfd utterance of sound Ifd &R m SEAR K
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3T a) starting from a) ST H a) STeHA: I
b) uptil b) STHRUTH, b) FRUTT~cH
2. ATETHHA: |

dAcJOYTHIE: is that HHIE: wherein the first word-part's o Tiera-9cad is dropped. Depending

on which TE¥THA-Sc@d that first part would have taken if broken into it's [ | the

dGeNHHAN™: s given that particular name. For example: %ﬁlﬂﬁ?ﬂ'{?ﬂ: |

Go over the short explanation of d<3&¥HHTH: at the very beginning of this lesson.

Note: The word dc3&¥: itself will help you remember what HHIE: this involves. d¥d J&¥: =

qcges: !

HqAEATEH, ferzre:

ECIRIGEIEE TR IR ST
ACIIGE RCERERIGE
ERUIIER U AT
AHYTCA : o greq:
FHRYTI: M e
T TR, ST
ERLIEEE SeE It
TETH T T
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SgHd: &~ T
SR G &
REIEIGE e d
FIEEIGE BEC I
ERIECE ERRIEC
A e Fe
HIJHGRT: HET "Rl
farqgea: e gea:
ALEIGE ERUT =1
ST o F,
CAISTA LI | EATATC RN L
qrEga: oA g
YgaH: HHEAT 9H
T, T S,
PIESIEET: | PIEEREETo |
E|CETCTE T FHE
NGRS AR FAS
TR, THRAT H,
UEREELN UESER L
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RETRAIH

HE IS

HEE:

A 3ET:

And that is the sole reason why you cannot have QU%HT(I@HHFI\QS a d?ﬁ‘l'lﬁ?&"ﬁﬁlt I EIT@HEIFIJS a

Present active participle and doesn't fit with the rules stated above. Instead, you may have a

guedmed: | Gottit?

HHEAUCH, fouE:
ENE RNIREN
FrTHfccHl FRE Hfcdl
fegTred: ETIRICRE
for eg: §4:
PRI I 391
for eg: TER]:
REER R 2em
for eq: GTIH,
REISE T[T s
TR, T R
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Note:

The compound QET(@WIT cannot be separated into ﬂ'{% R | The [I9&: has to be ﬂfl:

gferom |
FHEA9SH, [CEGE
TEHIACEY: RUSIELS =TI ¥,
R CEAL R
STERTI : THTd i
IR IR At
BItIEUGE AT, femid
R Afa: ERTIq_afda
g T g4d
Exceptions JEFSHN AT R ( )
QUNTd: U 0T (g
EARIA: EARI Gl ( &)
FHEA9SH, [CEGE
AT 3 ot
SO ST VIFd:
AT qaE T
SEEET T Agcat:
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~ . X
ISCCRE SCEEIRC LK

Exceptions ' T q: (3 SeAd)

e &l (g9 T4 )

ST BT (I 9eTd: )

TTET Fdl ( JH_ITT:)

AR FcdeqH] (ded Tcdd: )

Tt gford: (Fd 999 added
to I9))

q JEY: EIUIECIUE IOt ST

- AN A
dayqiied:
EAE e Fl FRS:
[aN =\ [aN
YT Y g
FEAIS: 1 I
S RIGH SEEIGE
SIS S 7
s . ¢ .
HEAGL: RIRAREIL
S IICCE T I
qHEA9GH. e
Mg, qeges: = WA A
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ISR R Wa: {Ydme:
Afawae: Nfeehled: AAIGH.
e TlcRTd: ST&TH
~ N
3gh: Iad: dAH
o ¢ ~ ¢ .
3. FHINIEHEE: |

This one is really simple. Whenever two words, one which is an adjective of the other, are
combined, you have a FHITEEE: | So you will have a combination of a ferRIYT and o fRIST
an SYHTA and an SYHY | Since one is a Rl of the other, naturally, when a ooE: is formed,
both the words will be in the same fa¥Tfdd: |

You may see the words @ 3Tﬁ\T, 3, @, in the faT&: to reinforce the relationship between the

two words.

g meaning "beautiful/ good" and § (@%EIH) meaning "bad" are added to words to form a

RHIIGHE: |

Note:

Why has this particular @HIE: been called FHIN ? Simple.

Let's look at an example... Fﬁ?'?lm | 39S HiHaul YRATT | I becomes the object in the
sentence.

Similarly, TTeed: | I&: 399 9 INATA | Alternatively it could be: 39: TI: &4 TRATA | If
you look at the examples in the tabular column, you'll begin to see how one of the words

"becomes" the object of the other.
Even if that may not be an authentic explanation, why must we reject it if it helps us

remember what the ﬁwnm: is?ll

FHIRIEH:

FHEA9SH,

o

fourE:
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e e, 9 <l 3
HEUTY: FT: G4
et e IeqeH
RIS i &g
YR, FEHH T RHSH,
TEgEH, =% g,
ASECL g 93
TERAGH, g FHSH T
geyia: gey: [HE: 3
FEA: HEA a4 (both are
adjectives)
SIRIGISIE s sgfeas (@ S
ﬁ?lﬁrUTs)
T, <= T (opposites)
Teed: & O 3
fermae feran o
SRR 9 T S,
EEC Iq: W T,
L Flewd: T
STEE: A Ihd I
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AT EARSCIRIGH

g AT e

g - -

TERTAH, TRTAH_ ST,
4, TEEEE: |

HHE with numbers!! Just the examples themselves will help you figure out what is what!

o

&I aH: HHEAIGH, g
REUCL | T I GHER:
EEEIEL =l QI HEN:
BPRIaAH ST ¥ THER:
aggim/ aggei ~IguTl QI THER:
qediE: e SRl TARN:
T/ A A AT FHER:
B ERIIRACACIRSE A TE

(IFHNd — S — Fa

o)

Tl HSH THRER: (STHNd

N o o
— TS — %S THlog)
EECLl Ul 9 THER: (ITHRRd
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~ 2 - F9 TAF)

FATed] A, I THER:
YOHIGY: SO TR, ST,
AT 52l |l YT,
REUCREE U e O 96T 9

Al | TEEEH

G @I FHRR: (
ARNd — @)

5. &rad@H:

Just take a look at the examples. Easy.

Between every word, be sure to add the ¥ . A compound of two words will be dual and a

compound of more than two will be in the plural. A point to be noted is that words beginning

with a vowel and words ending in 3T%NI<d should come first.

o

HHEdUGH IEPEE
sRex gRH & (IR words before THNIwd)
Rl e o
SO CA A0 e T Tea
SEETE] R daEe
sieHaeedl SiieHel ag=a
BRI uea RikRe ageaw
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GIGIELH qrr = far =

ST ict I & q1al = T GHER:
REaREA. TRTE AT TS GHER:
W Gl IGHA I GARN:
CERIEL goE Qi o SRR
AL T = T WA FHER:
CECIEL T G Sl FHEN:

Qib'l?‘z'\lﬂt a part of the graqHM: |

When similar things are put together and the entire compound is described by just one of the

. . \ .
words, either in the dual or plural, TRRIY: is seen.

HEEAUEH, [EDEE
et Jee JaA
e He o far =
Sis Wl o &1 |
| g gt =
ga ga & =
A | 9 qHd
QA 994
e VEeaH VIEcaH
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99H_ PRI RS

N\

T W2 TH

6. TEAIE:

Read our simple explanation again of this particular @HIE: (given at the beginning of the
lesson) then let's move on. You'll find either both the words of the [I5&: in the same fE¥RA:

or they may be in different forTier s,

Since we are talking about someone else altogether, you need to describe the compound by

adding a g, I H:, YY1 |1 and the like.

In other cases you'll see compounds formed by a combination of @& with the d?ﬁ?il'l ferfe: |

Note:
The word @%3 itself means "a person who has plenty of rice". In other words, a wealthy

man. A long time ago, parents would give their daughter in marriage to Mr. aga"l% who would

have the capacity to look after their child well. It won't be difficult now to connect this word

to what the §HIH: implies.

qHEA9EH. e
same far i
- s e
oTCdie®: oTe 3% 3 &
EaRT: (T &1 FFE: I 1 |
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HTIT: el VIieH 349 q: |
G PIREAE) Ve e FAT AT |
g SJeTiel gEATOT 7T &
Feav ISt ded Vel IEH |: |
(FTeg)
FgdigT (Ce) Igd: g FE: @1 |
qferaqut: (J87) qfcrditel quiliel TEATd |
TTie5agsdT () TTicsaTiel gEaTiUT J&aT: &1 |
EXErADE: 9 Wl 96 ¢
TETE: ITET T e g |
CEIIERE el ¥idd: T6 |: |
similarly : &R,
QR | AU,
agg:, qEEi:
NgEY (TH:) A GEST: ARFAH: |
Different fR s .
T TTET IO 96T ¢ |
TgHIG: Tg: FS T x|
QIExE-t IS FK: T | |
TgHIS: =g A a6 & |
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EEELCE fors w08 TE |: |
FISHIS IS FS: FEG ¢ |
with @8 A | GEY: 0T T8 Jdd 3
ha¥ o .
g | g HF |E ddd g |
qHH: FHUT 6 Fdd |
ha¥ ha¥ ™= o
HAHh: AFAT HE ddd gld |
HETIREh: [ HETIRM: HEd 931: 99 T (FY.is added because no
other rule is applied to IR when forming
the compound)
IGTcad=1Eh: / IgTcaHl: | ITcd HA: T6d |: (*Y_is added because no
other rule is applied to HAH when forming
the compound)
F9.is also added G ICTCE 9 el I69 |: (FHWd )

when the last word
is a Ahl«d in any

gender, or is an

SRR or SHNI
ENE word

TR AT I G (FhNd 1)

F ITd IET T (RN [9.)

Gl Y TET T (SHRN SHlioow)

&gl St T G (SRR o)
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7. SIGH_ GqE: |

In cases where the T remains in the HHEQUGH , gh HHIY: is seen. It can be any of the

ones that we have studied in detail.

HHEAIGH, s
gerfeat: RIDAIIE HecH e e
UCANCE g0 3T EELIRIeIE
qIg: ST e lcicge:
S it
;lgilgt Jlgilg: mt' :
2 =
TEHIGH, TEH 9qH, agiidcges:
TeA-TEH, TeA 95T, ageiidegey:
FISHS: FIS HS: 2 BE T CRET |
CEEIE o ERRCGEIS
8. TSIEHE: |
Add an 3 if it is followed by a 4HH and an 3 if followed by a T |
GHETIGH, faurE: o7
~ >
IH<E: q Gwag:
e A faem:
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I q o
HANHAH d AHAH_
SIECICE A foane:
SIRCE 1 dg;:
G RCIERE A U
STqYT: [ YTH  9eT:
_gN: HTH: N FE T |
AT AATHAH_ 9T I 9:
HP: A P T |
ST AT T T &
SR SR BT TS |
SISERE q fd 9e[@: g |:
I  fad e gEn: |
T T Sfed kUi e q:

This is a HHE: with 394qs. Here the word 394¢q stands for any noun.

9. SUYqHHTE:

o

qAEATEH. e
ERZCATE e O
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e o R o
ISURTISH Ieuf eEd g
St SEC I T
T/ JETRN: R FUMT 3
VTSR / VTSN TS T 3
VgL ¥ T 3
EREEE a1 agid gid
RECE o gl &fd
qET: ™ T 'i'l%f
qfteqnd: / aiteqHI qiieqq_ (3THT) Jead 3fd |
Worksheets.
Just try and understand this:
THE YWTEAdl SIeaed:

g AAqgHdl I FFdEcdl GgqEd |

3 AIEHAT A & AFTEaHT: 11 g |
Q) 7 EH - ST | (LAY )

R )7 U, - Y, | (7L G )

o N0

3 ) 3R foreamT: - qETiea: | (HeaH dege )
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Aleqgrafeeaum G qHgEE: |

d TTgaied AT HdRd @i 1

2 ) | ghe: AW o - EHGI: | (TR )

R ) Heha: e - qelfeH , dRwA, - FeEdfed | (SIgel degey )

FRAEIREAIS R Fig AAEEE: |
HAFHRSAR] dd: H JacHar 11 9 |l

?) WH AN - HART, | (VS ege)

TR STEG: - AEWETEE: | (fEdan dcgeT)
R) WY FHHIT - FIHAI | (FHIRE)

< ¢ . o < ¢ o
FAFHHT FAN - FARARSIA | (TS AT

TAFAGRS! AFT: - IRHRSAR:, T -~ TAFARSART. | (TS5 AcgeT)

AET T HT: FE0T TG A |

P e e a0 7 o

2) T VeIl - FAT: |, A, - FAA, | (FHT)
R) eiidt 7 JEATq &: - fFHd: | (TG Jgate)

3) foFia: SRgN: aEAe &@: - fFREgi: | (i TgAR)
¢) 36 ¥ g€ 9 - O | (5759

qu: 3EgEd: 9: 9: - GUgEgd: | (JgAiR)

Fegee: Tad AN Jalcl gafad: |
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AEAaHRIgreal Fda: 8 | B 1w
) ge: [Mar:- qeed: | (FHINA)

JeiMT: T6 §: - JeiWud: | (FgAIR)

R) T g - w1 (5E)

wifdel Fighy 9 & - e | (TgHR)

FEHTIESTd Skl SRS ¥ ¢ |
SIS RTE T | = B 0 ew
9) E: T SHE: T ¥4 ° IT: | - ENANTAEM: | (578)

SN\ N ¢ o
EYHEIE | G T: T - TS HadT: | (TgAR)

S FraGH STE Tqa: |
HIRETARART a Ageal: @ | /= 198
Q)  ferd STUET ARTA |: - el | (FEER)
R) T 9T JEHT G - I[qeqd: | (FgAIE)

qr F geAfd A gfe A T 7 FreEfd |
TTRITIRCAR T ¥iaaea: @ |/ £—F: 1 g9 1

?) ¥ = I T - TR | (578)

TR TRANT T2 T2 - PTRITIRART | (FEE)
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qH: 3 T B T q A |

FAgEg @Y JH: TFEaeid: | ¢

Q) HIF: STH: o - AFIGHET , q4l: - AFGHEE: | (578)

R) 2l = I 7 G T G | - FAUGEG @I | qY - MATEEG WY | (B7F)
3) @ fafsid 3= @: - qgfafeia: | (FgER)

~ ~ ¢ NN N N
JArgRgIaHIel Hegsel 39 Harad, |
AfeThd: ReeRATRTRH=H /™ A 1R

¢ T Ofq: aeg |: - RemAfa: | (FgAR)

*x %%

Please do write in case you have any questions regarding this lesson. Hesitate not and thy
doubts shall be gone with the wind!
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